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<Y—A7F77A4)N> average 001.c

#include <stdio.h>

1

2

3 int score[10] = {3,5,8,9,10,6,7,9,8,3};
4 float get ave();

5 void print_data(int i,float ave);
6

7 int main(){

8

9 int sam;

10 float ave;

11 inti;

12

13 sam=0.0;

14 sam = get ave();

15 printf("%3.1d\n",sam);

16 ave=sam;

17 ave/=10.0;

18 printf("average = %3.1f\n",ave);

19 for(i=0; 1< 10; i++)print_data(i, ave);
20

21

22 return(0);

23 }

24

25 float get ave(){

26 inti;

27 float b;

28  b=0.0;

9]



29

30 for(i=0; i<10; i++) b+= (float)score[i];
31 return(b);

32 3

33

34 void print_data(int i,float ave){

35 float dif = 0.0;

36 dif=score[i] - ave;

37 printf("score[%02d]=%2d Difference from average = %4.1f\n"
38 1, score[i], dif);

39 }

< AR >
[nw0945:~/progl/kadai5] e095745% ./average 001
68

average = 6.8
score[00]= 3 Difference from average = -3.8
score[01]=5 Difference from average = -1.8

]
score[02]= 8 Difference from average = 1.2
score[03]=9 Difference from average = 2.2
score[04]=10 Difference from average = 3.2
score[05]= 6 Difference from average = -0.8
score[06]= 7 Difference from average = 0.2
score[07]=9 Difference from average = 2.2
score[08]= 8 Difference from average = 1.2
score[09]= 3 Difference from average = -3.8
< fREL >
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<Y — A z2— F >average 004.c

#include <stdio.h>

int score[10] = {3,5,8,9,10,6,7,9,8,3};
float get ave();
void print_data(int i,float ave);

int main(){

int sam;
float ave;

nt i;

sam = 0.0;

sam = get_ave();
printf("%3.1d\n",sam);

ave=sam,;

ave /= 10.0;

printf("average = %3.1f\n",ave);
for(i=0; 1 < 10; i++)print_data(i, ave);

return(0);

}

<Y —Az2— F >average 002.c

#include<stdio.h>
extern int score[10];

float get ave(){
int i;
float b;
b=0.0;

for(i=0; 1<10; i++) b+= (float)score[i];
return(b);

}

<Y—Az2—F >average 003.c

#include<stdio.h>
extern int score[10];

void print_data(int 1,float ave){
float dif = 0.0;



dif = score[i] - ave;
printf("score[%02d]=%2d Difference from average = %4.1f\n"
1, score[i], dif);

}

< Y — A 2 — F >makefile

make:average 004.o average 002.o average 003.0
cc -0 make average 004.o average 002.0 average 003.0

average 004.o:average 004.c
cc -c average 004.c

average 002.o:average 002.c
cc -c average 002.c

average 003.o:average 003.c
cc -c average 003.c

< AR >

nw0945:kadai5 e095745$ ./make
68

average = 6.8
score[00]= 3 Difference from average = -3.8

score[01]=5 Difference from average =-1.8
score[02]= 8 Difference from average = 1.2
score[03]=9 Difference from average = 2.2
score[04]=10 Difference from average = 3.2
score[05]= 6 Difference from average = -0.8
score[06]= 7 Difference from average = 0.2
score[07]=9 Difference from average = 2.2
score[08]= 8 Difference from average = 1.2
score[09]= 3 Difference from average = -3.8
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